
 



Cevap Anahtarı 

CozumAnahtari 

100__________, 1) 35,7201, 2) 25,1289, 3) -250,173, 4) 106,72, 5) 89,475 

Soru 1. 
v_ilkHiz = 60; 

a_ivme = 5.4; 
v_ilkHiz = v_ilkHiz * 1000 / 3600; //hızı 

m/s çevirdi.  

s1_freneBasanakadarAlinanYol = 0.6 * 

v_ilkHiz; //fren pedalına basana kadar 

alınan yol 

 

t_frenSuresi = v_ilkHiz / a_ivme; //fren 

süresince alınan yol. 

s2_frenSuresinceAlinanYol = v_ilkHiz * 

t_frenSuresi + 0.5 * (-1*a_ivme) * 

t_frenSuresi * t_frenSuresi; 

 

s_toplamAlinanYol = 

s1_freneBasanakadarAlinanYol + 

s2_frenSuresinceAlinanYol; 

 

Sonuc = s_toplamAlinanYol; 

 

 
 



Soru 2. 
α_acisi = 30; 

v_hiz = 40; 

θ_acisi = 37; 

 

v_hiz = v_hiz * 1000 / 3600; //hızı 

m/s çevirdi. 

V0x_hiz = v_hiz * 

Math.Cos(Radyan(α_acisi)); 

V0y_hiz = v_hiz * 

Math.Sin(Radyan(α_acisi)); 

 

t_ucusSuresi = 

(Math.Tan(Radyan(θ_acisi)) * V0x_hiz + 

V0y_hiz) / 4.905; 

 

Sx_mesafesi = V0x_hiz * t_ucusSuresi; 

 

Sonuc = Sx_mesafesi;  

 

 
 



Soru 3. 
ω_acisalHizi = 5; 

θ_acisi = 30;  

 
Vr_hizi = -100 * Math.Sin(Radyan(θ_acisi)) 

* ω_acisalHizi; 

 

Sonuc = Vr_hizi; 

 

 
 



Soru 4. 
t_zaman = 1.5; 

v_hiz = 2; 

m_yuk = 200; 

a_motor = v_hiz/t_zaman; 

a_yuk = a_motor/2; 

 

T_yuk = m_yuk*9.81 + m_yuk*a_yuk; 

T_motor = T_yuk/2; 

 

T_motor =T_motor/9.81; 

 

Sonuc = T_motor-(m_yuk/2); 

 

 
 



Soru 5.  
n_devir = 100; // 

θ_acisi = 45; 

m_kutle = 0.4; 

ω_acisalHizi = 2* Pi * n_devir/60 ; 

 

R_yaricap = 9.81 * 

Math.Sin(Radyan(θ_acisi)) / (ω_acisalHizi 

* ω_acisalHizi * 

Math.Cos(Radyan(θ_acisi))); 

 

R_yaricap = R_yaricap * 1000; //mm 

çevirdi.  

 

Sonuc = R_yaricap;  

 

 
 

 


